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d: AYHME 29
Cel: S8 NER2Y (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
XH < ot 1,407,608 1,604,497 196,889
£ 8,128
[= 10,920
= 1,388,560
ANSHNE =2 349,269 281,404 67,865
£ 8,128
= 341,141
SEX NME2H 180, 122 166,594 13,528
KYA S NAL2 147,952 146,374 1,578
101 Q14| 114,382 110,583 3,799
04 JIZH22RNEES 114,382 110,583 3,799
o S XL Mot 29 L DA A
35,460 * 22% * 120 93,615
o XI2tMl HIDIAl - 2P THAE LTI RAF L & A
eIg== 35,460 * 29 x 120 8,511
o A2ER 12,256
- 30 NYA & 29 L BMXTS A
93,615,000 * 12% 11,234
— KIZHAl HIDFAL - ZSHTHAN LRIEAN & A A
ol 8,511,000 * 12% 1,022
201 LEt2HH| 19,870 16,791 3,079
01 AtRZ2lH] 14,670 9,000 5,670
< Yt 2H| > 0
o XA HEX 35,000 * 20 700
o XA sHeE 100,000 * 53 500
o XYNEEEE H42(8F) 55,000 = 9694 5,280
< 2ILE > 0
o WMMESAA, BHMEZFAO, XLMA
213 70,000 * 62 = 33| 1,260
< ZH| > 0
o XA HYL2E A=A
7,000 » 6% * 65 2,730
o XA 21 ARF=X 7,000 x 6FH » 100 4,200
02 222%H| 5,200 7,791 A2,591
< 2ZQSLMA > 0
o XA CHUHE B2
250 * 10,0000H 2,500
o ZANZX YHIXAM S (ED1)
1,750 * 10000 * 128 2,100
o KNYNIXAM LRI (LH)
250 * 20000 * 12& 600
202 OdH] 13,700 13,500 200
01 2o 13,700 13,500 200
o KNLMNMEAS =& 50,000 * 49 x 17 3,400
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X ZH
o=

ok

TH = 1t
CAEME 2E
288 ME2g

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
o MMAZEAL & SEAE=2
20,000 = 69 » 70« 8,400
o Yol NSRZA 50,000 * 29 * 19 1,900
KN dMAR XA 32,170 20,220 11,950
201 LBt 15,550 5,700 9,850
01 AtS2t2ldl 4,510 4,510 0
< YBtx==d| > 0
o DXNANMESEE =05 Ty 943
300,000 = 2J4 600
o XM=& MaDXAH 3,910
- LEtIXA 50,000 = 7&fA * 5& 1,750
- Sg1XA 60,000 * 18 A * 2F 2,160
02 2234l 11,040 1,190 9,850
< ANEEHIRXY > 0
o JNAMEZEE =N80T SFAES
170,000 = 12& 2,040
o NINEZEE ZNETEH A2
375,000 * 2& « 12& 9,000
403 NXIEMSK=01H 16,620 14,520 2,100
02 SJ| 2SO0l CHSHCHEH At S HI 16,620 14,520 2,100
o HEXNYAM HEAAE 28 RAE=>
975,000 * 123 11,700
o SEXUMN HBAAE (WeTax) FXE =
410,000 = 12& 4,920
KAl & ==2tel 169, 147 114,810 54,337
S 8,128
= 161,019
IHE SO DAL AE 67,080 66,645 435
101 el4d| 13,107 12,672 435
04 JI2ZtHIZ22NHSES 13,107 12,672 435
o MeZY 4HY U HHIA OIP
35,460 » 118 * 30 11,702
o AUEE S 11,702,000 * 12% 1,405
201 et 53,973 53,973 0
01 AtSR2t2ldl 43,241 43,241 0
< Yet==d| > 0
o FEOIH Zy W AW ENES M
66,000 » 408t A 2,640
o FUMEIA AS44E
4,600 * 13,700% * 1.1 * 50/100 34,661
o SAAME FUINA AE44E
6,000 * 4005 * 1.1 * 50/100 1,320
o OloAE Fu AZssE
20,000 * 200 = 1.1 * 50/100 2,200
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A MR
g3 NgME =24

o

Sl M Fe (S92
_ _ SIEN
SH-EH . C(BH) - NRAY - BES Off &F o4 0 At of HRE2
< NEFHIS Y > 0
o JAANT ALY RNB4
220,000 * 122 2,640
o MRS OHHAIAE SXBA 200,460 * 122 2,406
202 01t 4,660 4,660 0
01 2UHoi8] 4,660 4,660 0
o XM 4L =7 20,000 « 5 + 29 2,900
o ZolE2 MWK I& 40,000 * 2% * 9 720
o XM 0 EAWLZ 4+
40,000 * 29§ * 132 1,040
405 TtarE S| 35,000 0 35,000
01 XAUSEF S 35,000 0 35,000
o YL MLRTHEAAEY
35,000,000 * 1k 35,000
Helsel el 27,746 11,490 16,256
s 8,128
2 19,618
201 2sr2 | 490 490 0
01 At 490 490 0
<2gry > 0
o JIRBENASINE BHLY
70,000 * 7% * 13| 490
403 XXM SXHOIH 27,256 1,000 16,256
s 8,128
2 19, 128
02 TJIZSOICHEHCHE AR 27,256 11,000 16,256
o Me+Es SNB4 11,000,000 * 18] 11,000
o HYA+UDTHAAL MBI AIY
16,256,000 * 13l 16,256
s 8,128
2 8,128
EES 143,522 187,587 ~44,065
slHe 110,813 153,914 £43,101
Her o slH2Y 110,813 153,914 £43,101
101 2124H| 11,121 10,752 369
04 JIAH2ENSE4 1,121 10,752 369
o N MR YREE
35,460 * 1% + 2802 9,929
o 4y2E2 9,929,000 * 12% 1,192
201 2sr2 | 60,692 73,362 A12,670
01 AtE22/H] 59,492 60,612 A1,120
< ggragy > 0




SH: WD
B HESY

ool SNy (S5 &2)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il i~ o bRz
o ZMA R0l 110,000 * Q0% 9,900
o HYPE TRIE EY 7Y
224,000 * 3CH * 6 4,032
o O U BHNBAME 7Y
80,000 * 43 * 33l 960
o 2HEEX TS2 20,000 * 3% + 122 720
o XYH YBL4E 20,000 * 50021 10,000
o MANE BAS SNTY
19,000 * 102t A * 128 2,280
o WHMPBE Y 20,000 x 55 + 122 1,200
o Ao MAMA- 2SR T2 RN
= 490,000 * 122 5,880
o FiNE4 T2 N4
740,000 * 128 8,880
<egry > 0
o HtMOAARS BAHLY
70,000 * 8% 43| 2,240
o ZMAARIHE VLY
70,000 * 3% * 20 4,200
o ARG MARE L Kt2Y|
200,000 * 42l 800
< S| > 0
o ANYS =7 7,000 * 5% * 90 3,150
o ZMAAN UEEH| 7,000 * 5% * 702 2,450
o HYUFA KEFHI 7,000 * 5% * 802 2,800
02 ZB2YH| 1,200 12,750 A11,550
<BTLILMA > 0
o BH L HAYLEX M3
100,000 * 1CH * 122 1,200
202 ot 5,000 5,000 0
01 2Uhoitl 5,000 5,000 0
o Jld, ERAN Yz FZ
20,000 * 2% * 652 2,600
o BB YL =X 20,000 * 2F * 60 2,400
203 PREXY| 34,000 26,000 8,000
03 AlMEZ AR =Y 34,000 26,000 8,000
o NYWE =5 L BAFZ 28,000,000 28,000
o ZNAN S AANYLREH 6,000,000 6,000
22| 29 32,709 33,673 ~964
=2A9)| 29 32,709 33,673 ~964
101 121yl 7,149 6,913 236
VIBTEDTEESETEPS 7,149 6,913 236
o =2AS)| SN S2 YRBZ
35,460 * 1% * 1802 6,383
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M HRD
T T2

&2l SR 22 (&2 &
_ _ N
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH Oﬁ/?OH Hns2
o 22| AIRSA L olgl=
200 * 2,17000 * 23] 868
= 434
= 434
202 O HI 5,600 5,600 0
= 2,800
= 2,800
01 2LH0HI 5,600 5,600 0
o ZFMA AEfEQ! 20,000 = 4% = 70 5,600
= 2,800
= 2,800
==&l 25,600 0 25,600
207 AT IH | 25,600 0 25,600
02 & AP EHH| 25,600 0 25,600
o RFID S 2&CIAAE AZEQN 2L
22,000,000 * 14 22,000
o RFID S ACAIAE AZTENH SANEx
300,000 * 12& 3,600
HAr2te| 337,086 541,570 A 204,484
AL X 2te| 337,086 354,570 A17,484
201 223 302,926 270,410 32,516
01 A2 2eltl 48,430 44,710 3,720
< YdtZH| > 0
o HAL MI|otM2ZeHl 8 760,000 * 123 9,120
o HAN YH A5 EY 450,000 * 53| 2,250
o FHAI gl 89 350,000 * 12& 4,200
o At &I |FX&2 &9 250,000 * 12& 3,000
o FA HX HA EY 1,200,000 * 23| 2,400
o A XStH=E A 9
1,000,000 * 23l 2,000
o FAt 2B HHIE stz 7L
120,000 * 3&Z » 6& 2,160
o HAI &4 HIO U= (8
220,000 * 330 7,260
o ZtAb 22ldl 30,000 * 12& 360
o HAb St&EA 22l UM P2
121,000 * 5& + 10& 6,050
o FAb 228 UM 7
100,000 * 88 *» 6& 4,800
< 2 EH| > 0
o ZBFMA L2 =& 7,000 » 6F * 115! 4,830
02 S==294l 254,496 225,700 28,796
< SE=ZLAMA > 0
o A Z2ACRES 1,600,000 * 13l 1,600




DMt
B\ Pl
AL

SA BB CR(SH) - NRAY - A S Aol e =2
o X2ME 3= 98,770,000 * 13l 98,770
o 23 M= 86,805
-JlEg 3,750 * 650kW « 12& 29,250
- AMEZ 80 * 59,953kWh * 12& 57,555
o ZAL D123 50,000 » 123 600
o HAb Yotk R 9,109
-JI2= 27,050 » 128 325
- A EZ 1,220 = 600 » 12& 8,784
o HAL AIEZEHl |X 2,100 » 8,453m 17,752
o AN HUSI| M 4,000,000 = 1CH 4,000
o A 22 A 750,000 * 2CH 1,500
o FAHEE =cl 480,000 * 2CH 960
< HZHl > 0
o AL HHBY RF  1,037.66 * 29,4891 30,600
o ZAL HHEUH |RF  1,041.14 * 2,689 ¢ 2,800
202 OfHl 4,160 4,160 0
01 =UH0iHl 4,160 4,160 0
o AZRWA L FAuB2AYP =T
20,000 = 49 » 52 4,160
405 KHAHFESHI 30,000 80,000 A 50,000
01 ML ESHSHI 30,000 80,000 250,000
o A E=HIZ wHl 2,000,000 * 15& 30,000
HY2AZU (HR) 111,319 112,354 A 1,085
29l 44,409 46,774 A2,365
ol 2| 44,409 46,774 A2,365
101 Q14| 44,409 46,774 A 2,365
01 2=+ 44,409 46,774 A2,365
< g > 0
o NQRRLY
7,300 = 1998 = 23Al12+ = 123 38,282
o NZtRI2 RS (XHZIIAL
7,293 » 7H * 10Al2t = 128 6,127
=22l 66,910 65,580 1,330
Jl=2&H| 66,910 65,580 1,330
201 Yo=Yyl 15,910 14, 160 1,750
01 AFR22lH| 14,470 12,720 1,750
< Yet=ZHl > 0
o ZEH ¥ SAMJ EYH
250,000 * 8CH = 404 8,000
o WA E|4 100,000 *= 1CH = 504 500
o SAEX 25,000 » 58tA « 123 1,500
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M R
mu: WEeAAY (N2
&el: J12&l =k
SA BB CR(SH) - NRAY - A S Aol e =2
0 4 o
o j2RA=E= 2,820
- 2 15,000 * 92 = 12& 1,620
- XX 10,000 = 108 = 12& 1,200
o ARA )| M 5,500 » 25& * 12& 1,650
02 2223H| 1,440 1,440 0
< B3RS EHA > 0
o dM3R3 110,000 = 1CH » 12& 1,320
o RULERS 10,000 = 1CH  12& 120
202 (4 H| 10,500 10,500 0
01 =WOYI 10,500 10,500 0
o ZAEH(SE) 10,500,000 10,500
203 HRF&Hl 40,500 40,920 AN420
01 J|22SHFF=&HI 36,300 36,300 0
o BFEs 3,025,000 * 123 36,300
04 FN2ILRFAHI 4,200 4,620 AN420
< 302 Olat 350,000 * 12& 4,200
WRES(HR D) 209,000 215,000 A6,000
BHXE 209,000 215,000 26,000
M= 209,000 215,000 26,000
311 Xt 301 Ataket 9,000 15,000 26,000
06 JIEFX 30l Ata&te 9,000 15,000 6,000
o Fatdlye XL =0lXa& 9,000,000 * 13l 9,000
601 XL S3=4E 200,000 200,000 0
06 JIEfmUIXL SRS &S 200,000 200,000 0
o ZeH XS 4E
200,000,000 * 12l 200,000
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